If Serbia had used theterm “murder” rather than “ethnic cleansing” to
describeitsactionsagainst Muslims, it islikely that they would have? A.
proceeded in exactly the same way.

B. won more civilian support for their actions.

C. felt too guilty to continue with their plans.

D. achieved their goals more quickly.

The correct answer is- A. proceeded in exactly the same way.

Whichever of the two terms, "murder™ or "ethnic cleansing” was used by the Serbs, it was not going to make any change in their action against the Muslimsin
Bosnia and Herzegovina. The people now the meaning of both termswell, and that both of the terms mean pretty much the same thing. The tensions and hatred
were aready on place, so once the war started, the only option for the participantsin it was to kill the enemy, and that is what they did, and would have done
even if the terms were switched.

If Serbia had used the term *Murder’ rather than * Ethnic Cleansing’ to describe its actions against Muslims back then it was because that they felt too guilty to
continue with their plansto ‘Mass Killings or ‘ Public Genocides'.

Further Explanation:

It was the period of mid 1990s when the government In Y ugoslavia started to fall. Many ethnic groups and people from many other communities used to live
together from around 40 years under respective communist government. But the collapse of government gave two provinces reason to declare themselves as
independent countries and due to this the war broke out between Serbia and these republics. These issues created serious tensions between people of
communities and they turned up against each other after living together peacefully for years. It wasin year 1992, when the term, ’ Ethnic Cleansing’ was used
for the first time, When the Serbians started to remove al the * Bosnian Muslims who were known as Bosniaks. Serbians attacked Bosniaks with military
equipment and surrounded their capital city. People were murdered, WWomen were raped and civilians were tortured on the name of * Ethnic Cleansing'.

The Serbians linked word * Ethnic Cleansing’ to the murders of ‘Bosniaks' because if they would have used the term ‘ Genocide' then it may have required
intervention of United states under Intervention law and other than that, People from Serbia didn’t wanted their people to feel bad or guilty about their doings if



word murder or genocide was linked with this, That is why the term Ethnic cleansing was used.

Learn more:
1. In Furman v. Georgia (1972), the Supreme Court ruled in WilliamFuran's favor, saying that Georgia had? brainly.com/question/2816742

2. Why did NaziGermany build concentration camps in Poland?brainly.com/question/1782564
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X2 + 5x - 36 Which binomial is afactor of the polynomial?

A) (x +6)

B) (x+9)

C) (x+5)

D) (x +12)

How are decimals 0.009 and 0.09 related

On their way home from school. Terri and Evie started walking out for two blocks and then running for three blocks and then repeating that pattern. If they can
walk ablock in 2 minutes and run a block and 45 seconds how long will it take them to go 18 blocks?

If ascientist is studying the attraction of water molecules to each other, what property is he or she studying

Can Mark sing both parts of atwo-part song?

A.
Yes

B.
No



Which of the following is located in the stratosphere? (10 points) Weather, The ozone layer, UV rays, Birds.

Escoge larespuesta correcta. ¢Cuales son universidades de Puerto Rico? Universidad Politécnica, recinto de Miami, FL La UPR, recinto de San Juan
Universidad metropolitanade Ana G. Mendez UCLA, recinto de San Diego Universidad del Turabo de Ana G. Mendez

you need to count all of the loaves of bread in the front area. there are 22 loaves of white bread, 17 loaves of wheat bread, and 19 gourmet breads. what is the
total number of loaves?

Which verb best completes the sentence? En mi opinion, 1o mejor es tu informacion personal. guardar dar compartir revelar

If 1.20 moles of copper react with mercuric nitrate how many moles of mercury form

Find the distance between 5 and 4i ?

25 POINTS!!! Seth is chatting with hisfriendsin a café. Suddenly, the power goes off, and it's completely dark. After afew moments, he' s able to see the
outlines of the objects and people nearby. Which cells are responsible for his ability to see the objects and people? A. cone

B. glia

C. olfactory

D.rod

Which of these sentences does not contain parallel structure? | stay fit by walking daily, swimming weekly, and eating healthy. My sisters always bicker over
who gets to drive the car, wear the newest dress, and having the best boyfriend. Please open your notebook, get out your homework, and place it on you desk.
The puppy looked under the tree, beside the swings, and near the bushes, but he couldn't find his toy bone anywhere.

Our utmost endeavors cannot arrive at so much asto imitate the nest of the least of birds, its contexture, beauty, and convenience: not so much as the web of a
poor spider. All things, says Plato, are produced either by nature, by fortune, or by art; the greatest and most beautiful by the one or the other of the former, the
least and the most imperfect by the last. Montiagne' s statement can best be paraphrased as .

Use the distance formulato find the unknown value. d= 171 mi, r= 19 mi/min, t= ?

What happens when electrons are passed from one atom to a more el ectronegative atom?

Which of the following Caribbean islands did not achieve independence during the 1800s or 1900s? Dominican Republic

Martinique

Haiti

Cuba

Who used stories of his enslavement to illustrate the experience for those who were unfamiliar with the daily life of a slave? Select the best answer from the
choices provided.

Frederick Douglass

William Lloyd Garrison

Theodore Weld

All answers are correct.

1. Home
2. More Solution
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